

Theorem:- Let $f: D \rightarrow \mathbb{R}$ be a funⁿ on D and $(c, \infty) \subset D$ for some $c \in \mathbb{R}$.

Then $\lim_{x \rightarrow \infty} f(x) = l$ ($l \in \mathbb{R}$) if and only if

$$\lim_{n \rightarrow \infty} f(x_n) = l, \quad \text{for all } x_n \rightarrow \infty$$

Note:- And $\lim_{x \rightarrow -\infty} f(x) = l$ iff $\lim_{n \rightarrow \infty} f(x_n) = l$.

Some Important Limits

① $\lim_{n \rightarrow \infty} \left(1 + \frac{1}{n}\right)^n = e.$

Let $[n] = k, \quad k \in \mathbb{N}$

Then $k \leq n < k+1$

$$\Rightarrow \frac{1}{k+1} < \frac{1}{n} \leq \frac{1}{k}$$

$$\Rightarrow 1 + \frac{1}{k+1} < 1 + \frac{1}{n} \leq 1 + \frac{1}{k}$$

$$\Rightarrow \left(1 + \frac{1}{k+1}\right)^k < \left(1 + \frac{1}{n}\right)^n \leq \left(1 + \frac{1}{k}\right)^{k+1}$$

- Taking limit $n \rightarrow \infty, \quad n \rightarrow \infty \Rightarrow k \rightarrow \infty$

So, we have

$$\lim_{k \rightarrow \infty} \left(1 + \frac{1}{k+1}\right)^k < \lim_{n \rightarrow \infty} \left(1 + \frac{1}{n}\right)^n \leq \lim_{k \rightarrow \infty} \left(1 + \frac{1}{k}\right)^{k+1}$$

$$\Rightarrow \lim_{n \rightarrow \infty} \frac{\left(1 + \frac{1}{k+1}\right)^{k+1}}{\left(1 + \frac{1}{k+1}\right)^k} \leq \lim_{n \rightarrow \infty} \left(1 + \frac{1}{k}\right)^k \leq \lim_{n \rightarrow \infty} \frac{\left(1 + \frac{1}{k}\right)^{k+1}}{\left(1 + \frac{1}{k}\right)^k}$$

$$\Rightarrow e \leq \lim_{n \rightarrow \infty} \left(1 + \frac{1}{n}\right)^n \leq e$$

$$\Rightarrow \lim_{n \rightarrow \infty} \left(1 + \frac{1}{n}\right)^n = e$$

$$\textcircled{2} \lim_{h \rightarrow -\infty} \left(1 + \frac{1}{h}\right)^h = e$$

$$= \lim_{y \rightarrow \infty} \left(1 - \frac{1}{y}\right)^y \quad y = -h$$

$$= \lim_{y \rightarrow \infty} \left(\frac{y-1}{y}\right)^y$$

$$= \lim_{y \rightarrow \infty} \left(\frac{y}{y-1}\right)^y \quad \text{let } y-1 = t$$

$$= \lim_{t \rightarrow \infty} \left(\frac{t+1}{t}\right)^{t+1} \quad y = t+1$$

$$= \lim_{t \rightarrow \infty} \left(1 + \frac{1}{t}\right)^t \left(1 + \frac{1}{t}\right)$$

$$= e \cdot 1 = e.$$

$$\textcircled{3} \lim_{h \rightarrow 0} \left(1 + \frac{1}{h}\right)^{1/h} = e$$

$$\text{let } y = 1/h, \quad h \rightarrow 0^+ \Rightarrow y \rightarrow \infty^+$$

$$\lim_{y \rightarrow \infty^+} \left(1 + \frac{1}{y}\right)^y$$

$$= e.$$

$$h \rightarrow 0^- \Rightarrow y \rightarrow \infty^-$$

$$\lim_{y \rightarrow \infty^-} \left(1 + \frac{1}{y}\right)^y = e.$$

$$\textcircled{1} \lim_{n \rightarrow \infty} \frac{n - \sinh n}{n + \cosh n} = \lim_{n \rightarrow \infty} \frac{1 - \frac{\sinh n}{n}}{1 + \frac{\cosh n}{n}} = 1.$$

Let $y = 1/n$, $n \rightarrow \infty \Rightarrow y \rightarrow 0$

$$\lim_{y \rightarrow 0} \frac{y - \sinh y}{y + \cosh y}$$

$$= \lim_{y \rightarrow 0} \frac{1 - y \sinh y}{1 + y \cosh y} = \frac{1}{1} = 1.$$

Find the following limits —

$$\textcircled{1} \lim_{n \rightarrow 0} \frac{\sqrt{n^2 + 4} - 2}{n^2}$$

$$= \lim_{n \rightarrow 0} \frac{(\sqrt{n^2 + 4} - 2)(\sqrt{n^2 + 4} + 2)}{n^2(\sqrt{n^2 + 4} + 2)}$$

$$\textcircled{2} \lim_{n \rightarrow 0} \frac{1 - \cosh n}{n}$$

$$= \lim_{n \rightarrow 0} \frac{1 - \cosh^2 n}{n(1 + \cosh n)} = \lim_{n \rightarrow 0} \frac{\sinh^2 n}{n(1 + \cosh n)}$$

$$= \lim_{n \rightarrow 0} \frac{\sinh n}{n} \cdot \lim_{n \rightarrow 0} \frac{\sinh n}{1 + \cosh n}$$

$$= 1 \cdot 0 = 0$$

$$\textcircled{3} \lim_{n \rightarrow 0} \frac{\tanh n}{n}$$

$$\textcircled{4} \lim_{n \rightarrow 0} \frac{\sinh 3n}{n}$$

$$\textcircled{5} \lim_{n \rightarrow 0} \frac{1 - \cosh n}{\sinh n}$$

$$\textcircled{6} \lim_{n \rightarrow \infty} \left(1 + \frac{1}{n}\right)^n$$

$$= \lim_{y \rightarrow \infty} \left(1 + \frac{1}{y}\right)^y$$

$$= \lim_{y \rightarrow \infty} \left(1 + \frac{1}{y}\right) \cdot \left(1 + \frac{1}{y}\right) \cdot \left(1 + \frac{1}{y}\right) \dots$$

$$\frac{2}{n} = \frac{1}{n}$$